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2. The graph shows the velocity v = v(¢) of a particle moving along aoordinate axis.
NO TECHOLOGY:
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A. At what time on the interval (-6,7) is the particle standing still? Justify.
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B. On what interval is the particle moving up? Justify.
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C. On what interval is the particle moving down? Justify.
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D. On what interval is the acceleration positive? Justify. ,
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E. On what interval is the particle getting slower? Justify.
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F. What are the velocity and acceleration at time ¢ = 27? ece el >0
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G. What are the velocity and acceleration at time 7 = 07
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4. The velocity of a particle moving along a@] coordinate axis is defined by
() = cos(#’) for 0<r<2.
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A. At what time on the interval (0,2} is the particle standing still? Justify.
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B. On what interval is the particle moving right? Justify.
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C. On what interval is the particle moving left? Justify.

Y 2 B ,;-k{vg(
The particle (s moving fr on (1104 Le27)vinTes, 2y ble v Lo o

D. On what interval is the acceleration positive? Justify.
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E. On what interval is the particle getting faster? Justify.
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G. What are the velocity and acceleration at time £ =17
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é . The position of a particle moving along coordinate axis is defined by

pY e T
s(ty=——+—-3r—1 for 0 <r<2. NO TECHOLOGY:

A. At what time on the interval (0,2) is the particle standing still? Justify.
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B. On what interval is the particle moving right? Justify.
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C. On what interval is the particle moving left? Justify.
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D. On what interval is the acceleration positive? Justify.
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E. On what interval is the particle getting slower? Justify.
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G. What are the position, velocity, and acceleration at time ¢t = 1?
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